Recap of 2-1, 2-2 and 2-3 Day 1
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Factor each quadratic expression.
124 ax-21 2322015 322 17x4 30

Identify the zeros of each function.

4 y=56-3)x+5) 5y -2

(= 9)(x +4) 6
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What is the vertex of the graph of the function f{x) = x* - 4x?
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Which of the following statements describe key features of the graph of fix) = -x* - 2x + 3?
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Find the vertex of a quadratic function written in standard form.

LAN=BE+ 18432 2 =425 3 f00 = -3+ 18x - 27

Find the vertex, axis of symmetry, and y-intercept of the functions, then sketch
the graph.

4. ) =2 - 8x+ 19
Vertex Vertex
Axis of symmetry Axis of symmetry

Yintercept Yintercept
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The function g(x) = (x + 2)? + 4 is a transformation of the parent function f(x) = x2. Which of the following statements are true? Select all that
apply.
0 A Functiongis the result of f being translated right 2 units and down 4 units.

[ B Functiongis the result of fbeing translated left 2 nits and up 4 units.
(D C. Thegraph of function fopens upward
[ D. Thegraph of function f opens downward.

) E. The graph of function fis compressed by a factor of 2.
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What are the domain and range of the function A(x) (- 4P +3?

B

A The domain is all real numbers and the range is y < 3.

B. The domainis x> 4 and the range is y > 3.

C. The domain s all real numbers and the range is y = 3.

D. The domainis x = -4 and the range is y < -3
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Whatis the equation written in vertex form of a parabola with a vertex of (9, ~1) that passes through (7, 7)?




